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[16pts] 1. Let A — d e f J and suppose that det(A4) = 3. Compute the following determi-
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[20pts] 3. Find the inverses of the following matrices:
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[10pts] 4. Use the inverse you found in part (a) of the last problem to solve the system Ty B —5
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[12pt] 5. Find the LU factorization of B = ( 4 2 41 )i] vy o \ 3-3
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1+ 220+ 23 = 0
[10pts] 7. Consider the following system of equations: 201 — 29y = —1.

Use Cramer’s rule to solve for z, given that det(A) = 9, where A is the coefficient matrix
of the above system.
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[10pts] 8. Find the area of the parallelogram with vertices (0,0), (5, 3), (7,4), (12,7). (It might help
to draw the points carefully in the plane.)
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